


BASE FLASHING INSTALLATION ISOMETRIC (AT DOORS)

BASIC BUILDING COMPONENTS2

EAVE FLASHING & CLOSURE CAP INSTALLATION

RIDGE CAP INSTALLATION INSTRUCTIONS

SUPPLEMENT SHEETS

BASE FLASHING CORNER CAP INSTALLATION

BASE FLASHING INSTALLATION ISOMETRIC
BUILDING FLASHING INSTALLATION INSTRUCTIONS

CROSS-SECTION DETAILS
CROSS-SECTION

DOOR INSTALLATION INSTRUCTIONS

FOUNDATION PREPARATION PLAN VIEW
BUILDING LAYFLAT
MATERIALS LIST
ELEVATIONS

SS-5

SS-10
SS-9
SS-8
SS-7
SS-6

SS-4
SS-3
SS-2
SS-1

6

10

8

5
4
3

PANEL & PANEL RACK HANDLING TIPSPAGE #1

DRAWING INDEX

7 BASE SECTIONS

9

GUTTER & DOWNSPOUT INSTALLATION INSTRUCTIONS
GUTTER & DOWNSPOUT INSTALLATION DETAILS

BUILDING ASSEMBLY LIFTING INSTRUCTIONS

SS-11
GUTTER & DOWNSPOUT LAYFLAT

BATT INSULATION

GLASS / PLEXIGLASS

RIGID INSULATION

CONCRETE

EARTH

(ELEVATION)

(INSTRUCTIONS FOR OVERHEAD DOOR ARE INCLUDED WITH THE DOOR)

ROLL-UP DOOR INSTALLATION TOOLS

TOOL LIST
DescriptionQty.

SECTIONDETAIL

12
11

PLAN VIEW & DETAILS

ROOF FRAMING PLAN VIEW

TIPPING FEET INSTALLATION INSTRUCTIONS
LIFTING ANGLE CAPACITIES

DOUBLE DOOR FLASHING INSTALLATION

EQUIPMENT DOOR FLASHING INSTALLATION
LIGHT TRANSMITTING ROOF PANEL INSTALLATION

SS-12
SS-13
SS-14
SS-15



UNLOADING & LIFTING PANEL
RACKS WITH A FORKLIFT

STORING PANEL RACKS IN
STACKED POSITIONS

REMOVING PANELS
FROM RACKS

SEPARATING PANEL RACKS
LIFTING PANEL RACKS
WITH SLINGS



BASIC BUILDING COMPONENTS



FRONT ELEVATIONLEFT ELEVATION

BACK ELEVATIONRIGHT ELEVATION



OVERLAP DETAIL

Qty
1
2 Bottle
2 Bottle
1 Pint
1 Pint
1
1

34
8 Rolls
3 Tubes

960
960

1 Set
160

16 0015
32 0025

192
192
14 42RB
26 42KB3
94
94

12 Wide x 16 High
1
5

50
50
50
44 Lf.
44 Lf.
88

5
18
10
20
4
4
2

16
150
500

8 10' Open ended gutter sections
2 5' Gutter section w/ Right endap & outlet
2 5' Gutter section w/ Left endap & outlet
4 16' Box Downspouts

16 Downspout support bracket
16 5' Gutter support Channel

10' Eave Flashing Hawaiian Blue

Building Flashing
10' Formed Ridge Cap Light Stone
10' Corner Caps Hawaiian Blue

Equipment Door Flashing Hawaiian Blue

Cookson Equipment Door
Cookson Roll-Up Equipment Door w/Hdwe

1/2" x 1" Base Seal - 25Ft

Touch Up Paint - Door
S. Parker Door Knob

Outer Closure Strip

Mfg. Door Gray

Imperial Rib

Touch Up Paint - Panel Frames Red Primer

Touch Up Paint - Trim & Sheets
Touch Up Paint - Trim

Light Stone
Hawaiian Blue

Set Assembly Drawings (w/MSDS Sheets)
Description

#5 Tek Screw

S. Parker Door Closure

Building Bolts

Base Flashing Corners Light Stone
10' Base Flashing Light Stone

Closure Cap Hawaiian Blue
Gable End Cap Hawaiian Blue
Light Lap Cap Light Stone

1/4" x 1.1/4" Bolt, Zinc Plated
#4 Tek Screw Hawaiian Blue

1/4" Nut, Zinc Plated

Aluminum Retainer 1" 45 Degree
2" Brush Weatherstripping

#8-18 x 1/2 T-2 Screw Hawaiian Blue
#8-18 x 1/2 T-2 Screw Light Stone

1/2"x1" Bolt, Zinc Plated

Standard 3' S2 Eave Angle Formed Plate
Standard 3' S2 Ridge Angle

1/2" Nut, Zinc Plated

8'-6"L (L4x3)
12'-3.11/16"L (L4x4)

1/2"x1" Bolt, Zinc Plated

3/4" A563 Nut, Plain

S2 Ridge Brace
S2 Knee Brace
3/4" x 2" A325 Bolt, Plain

Formed Plate

Picking Angles (2-Large/2-Small)

S2 Bracing

Silco Caulking - Clear

1/2" Washer

1/2" Nut, Zinc Plated

Qty
20 3224

RP-1 29LS I15
4 3224 22R

RP-2 29LS I15
8 3224 Sky

RP-3 29LS I15
32 3164

WP-1 29LS I15
1

RG-1 2'-3" 29LS I15
1 LG1-16-3

RG-1 29LS I15
2 LG1-16-3

LG-1 29LS I15
1 RSO

RG-2 3'-9" 29LS I15
1 DSO

RG-2 6'-0" 29LS I15
2 LG2-16-3

LG-2 29LS I15
1 RG3-16-3

RG-3 29LS I15
2 LG3-16-3

LG-3 29LS I15
2 RG4-16-3

RG-4 29LS I15
2 LG4-16-3

LG-4 29LS I15
1 RG5-16-3

RG-5 29LS I15
1 LG5-16-3

LG-5 29LS I15
1 RG6-16-3

RG-6 29LS I15
1 LG6-16-3

LG-6 29LS I15
1 RG7-16-3

RG-7 29LS I15
1 LG7-16-3

LG-7 29LS I15
1 RG5-16-3 C8

RG-5J 29LS I15
1 LG5-16-3 C8

LG-5J 29LS I15
1

MG-1 29LS I15
4 0226 A25

GEA
4 0162 A25

CEA

Gable Panel 6'-0"x17'-1"/18'-4.1/4" 5'8"x7' Double Door
29Ga Light Stone Sht 1.1/2" Insul.

8"Channel

Erection Angle, 16'-2" L2.1/2x2.1/2x3/16
16'-1.1/2"L

Gable Panel 3'x21'-4.13/16";22'-5"

Gable Panel 3'x18'-4.1/4";19'-4.7/16"

29Ga Light Stone Sht

Erection Angle, 22'-6" 
22'-5.1/2"L

L2.1/2x2.1/2x3/16

Middle Gable 12'x5'-4.13/16"/7'-5.3/16"
29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 3'x20'-4.5/8";21'-4.13/16"
29Ga Light Stone Sht 1.1/2" Insul.

8"Channel

Gable Panel 3'x20'-4.5/8";21'-4.13/16"
29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 3'x22'-5";23'-5.3/16"
29Ga Light Stone Sht 1.1/2" Insul.

29Ga Light Stone Sht

29Ga Light Stone Sht

29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 3'x20'-4.5/8";21'-4.13/16"

29Ga Light Stone Sht

Outer Roof

Light Panel

1.1/2" Insul.

1.1/2" Insul.

Gable Panel 3'x19'-4.7/16";20'-4.5/8"
29Ga Light Stone Sht 1.1/2" Insul.

1.1/2" Insul.

Gable Panel 3'-9"x17'-1"/18'-4.1/4"
29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 3'x17'-4.1/16";18'-4.1/4" 

3'x7' P. Door (HRSO)

Gable Panel 3'x16'-3.7/8";17'-4.1/16"
29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 2'-3"x16'-3.7/8"/17'-1"
29Ga Light Stone Sht 1.1/2" Insul.
Gable Panel 3'x16'-3.7/8";17'-4.1/16"
29Ga Light Stone Sht 1.1/2" Insul.

Panel, 3'x16'-2"x4"
29Ga Light Stone Sht 1.1/2" Insul.

29Ga Light Stone Sht 1.1/2" Insul.

Panel, 3'x22'-6"x4"
29Ga Light Stone Sht 1.1/2" Insul.

29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 3'x21'-4.13/16";22'-5"
29Ga Light Stone Sht 1.1/2" Insul.

1.1/2" Insul.
Gable Panel 3'x22'-5";23'-5.3/16"

Panel, 3'x22'-6"x4"

Description

Panel, 3'x22'-6"x4"

Gable Panel 3'x20'-4.5/8";21'-4.13/16"

Gable Panel 3'x19'-4.7/16";20'-4.5/8"
29Ga Light Stone Sht 1.1/2" Insul.

Gable Panel 3'x18'-4.1/4";19'-4.7/16"
29Ga Light Stone Sht 1.1/2" Insul.

29Ga Light Stone Sht 1.1/2" Insul.

MATERIALS LIST



W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

W
P

-1
W

P
-1

LG-1
LG-2
LG-3
LG-4

LG-5A
LG-6
LG-7
RG-7

RG-2A

RG-1A

RG-4
RG-5A
RG-6

R
P

-3
R

P
-1

R
P

-3

R
P

-3

R
P

-3

R
P

-1
R

P
-1

R
P

-1

R
P

-1
R

P
-1

R
P

-1
R

P
-1

R
P

-1
R

P
-1

R
P

-1

R
P

-1

R
P

-2
R

P
-1

R
P

-2

R
P

-2

R
P

-2

R
P

-1
R

P
-1

R
P

-1

R
P

-1
R

P
-1

R
P

-1
R

P
-1

R
P

-1
R

P
-1

R
P

-1

R
P

-1

LG-1
LG-2
LG-3
LG-4

LG-5B

RG-3B

RG-1B

RG-4
RG-5B

RG-2B

H
P

-1

M
G

-1

BUILDING LAYFLAT



FOUNDATION PREPARATION PLAN VIEW

STEP #3 - CHALK LINESTEP #2 - DIAGONAL MEASUREMENTSTEP #1 - MARKER POINTS

EQUIPMENT DOOR RAMP SECTION



BASE CONNECTION SPACING DETAIL
SCALE:  1 1/2" = 1'-0"

END WALL PANEL BASE SECTION
SCALE:  1 1/2" = 1'-0"

BASE CONNECTION SPACING DETAIL
SCALE:  1 1/2" = 1'-0"

SIDE WALL PANEL BASE SECTION
SCALE:  1 1/2" = 1'-0"



ATTENTION INSTALLER:

DOOR PANEL MUST BE POSITIONED AND ADJUSTED
IN THE FIELD.  DUE TO CONDITIONS OF THE
FOUNDATION / FLOOR, WE HAVE NO CONTROL
OVER PROPER ALIGNMENT OF DOOR PANEL.

(INSTRUCTIONS FOR OVERHEAD DOOR ARE INCLUDED WITH THE DOOR)



PLAN VIEW

TYPICAL PANEL CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

TYPICAL CORNER CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

JAMB TO HEADER CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

DOOR SCHEDULE



4

12

(42'W X 16'-2"H)
CROSS-SECTION



TYPICAL RIDGE CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

RIDGE BRACE CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

KNEE BRACE CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

TYPICAL EAVE CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"



GABLE RAKE CONNECTION DETAIL
SCALE:  1 1/2" = 1'-0"

ROOF FRAMING PLAN VIEW







PANEL BOTTOM VIEW SECTION

ISOMETRIC



GUTTERS AND DOWNSPOUTS NOT SHOWN
BUILDING FLASHING INSTALLATION LOCATIONS

SEE GUTTER INSTALLATION PAGES FOR INFORMATION

(INSTRUCTIONS FOR OVERHEAD DOOR ARE INCLUDED WITH THE DOOR)



TYPICAL BASE FLASHING ISOMETRIC

BASE SECTION

BASE FLASHING INSTALLATION



AT PERSONNEL DOOR
BASE FLASHING ISOMETRIC

BASE FLASHING AT DOORS

AT EQUIPMENT DOOR OPENING
BASE FLASHING ISOMETRIC



BASE FLASHING CORNER CAP



DOUBLE DOOR FLASHING



EAVE FLASHING INSTALLATION

SECTION

CLOSURE END CAP BEING INSTALLED CLOSURE END CAP INSTALLED

EAVE FLASHING



GUTTER SYSTEM LAYFLAT
(SAME FOR OTHER SIDE)



EXPLODED VIEW
TYPICAL GUTTER SYSTEM



GUTTER INSTALLATION ISOMETRIC

GUTTER INSTALLATION DETAIL

SUPPORT CHANNEL INSTALLATION DETAIL

SPLICE INSTALLATION SECTION



VIEW "A"

DETAIL #1

RIDGE CAP  INSTALLATION



EQUIPMENT DOOR ELEVATION

TYPICAL SECTION AT HEADER PANELSECTION AT JAMB PANEL SECTION AT JAMB PANEL

EQUIPMENT DOOR OPENING FLASHING

(INSTRUCTIONS FOR OVERHEAD DOOR ARE INCLUDED WITH THE DOOR)



LIGHT TRANSMITTING ROOF PANEL INSTALLATION ISOMETRIC

LIGHT TRANSMITTING ROOF PANEL SECTION


